BRENDAN

Ordered Pairs Design
MOVE LEFT TO RIGHT
“
0,1 1,2 2,1 3,1 4,1 52 5,-5 -3,-5 -4,-4 -4,0
-4,3 -2,3 -2,2 -1,1 STOP |63 STOP | 6,-6 5,-5 STOP
-5,2 -4,3 STOP |[-1,2 -2,3 STOP |5,-5 5,-3 3,-1 3,-3
2,-4 2,-5 2,-4 2,-3 1,-2 1,-3 0,-4 0,-5 0,-4 0,-2
-2,0 -2,-2 -3,-3 -3,-5 STOP 4,0 4,1 3,1 4,0 STOP
0,0 0,1 -1,1 0,0 STOP (0,3 3,3 5,5 3,7 0,7
-2,5 -3,4 -2,5 0,3 STOP (3,4 4,5 3,6 2,6 1,5
2,4 STOP |4,6 4,10 3,11 1,9 1,7 1,9 2,12 -3,10
-3,6 -2,5 STOP | 1,10 1,12 5,16 6,15 1,10 -4,15 -3,16
1,12 STOP |43 53 7,6 6,8 4,6 5,8 6,9 7,8
9,6 8,6 10,4 9,4 9,1 8,0 8,-1 7,-2 7,-4 8,-5
8,-7 7,-8 4,-8 3,-7 4,-6 3,-7 1,-9 -4,-9 -5,-8 -5,-6

-4,-5 STOP |5,-8 5,-12 1,-16 -3,-16 | -7,-12 [-7,-4 -9,-2 -9,7

-10,7 -8,9 -9,10 -10,10 |[-9,11 -7,10 -3,6 STOP 7,8 7,15

5,17 -3,17 -6,14 -6,9 -3,17 -6,14 -6,9 STOP | 4,-13 9,-18

9,-21 6,-24 14,-24 [ 15,-25 | 13,25 |16,-25 |17,-26 [15,-26 |17,-26 | 16,-26

17,-27 ] 6,-27 3,-24 3,-24 5,-22 5,-21 3,-19 -4,-19 -6,-21 -6,-22

-4,-24 | -7,-27 -18,-27 |-17,-26 |-19,-26 | -18,-25 |-16,-25 [-17,-25 |-16,-24 | -8,-24

-11,-21 |-11,-18 | -10,-17 | -10,-5 -15,0 -15,1 -18,4 -18,5 -20,7 -20,8

-15,13 |-17,15 |-17,19 |-16,19 |[-15,18 |[-15,21 |-14,21 |-13,20 |-12,19 |-12,17
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13,17 |-14,18 |-14,19 |STOP |-12,19 |-10,19 |-10,17 |-11,17 |-11,18 |-11,17
12,16 |-12,13 | -11,13 |-10,14 [-11,15 |-10,16 |-9,15 |-9,13 |-11,11 [-12,11
149 |-148 |-166 |-17.6 |-166 |-157 |-124 |-11,5 |-95 STOP
9,3 15-3 | 144 [15-3 |17-1 |STOP |81 11,4 |12-6 |12,6
15-6 |16,-7 |STOP |6,-4 7,-4 STOP | 0,8 0,9 1,9 1,8
0,8 STOP |28 2,9 3,9 3,8 2,8 DONE
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Equations it self
Graph each of the following lines below. Draw the lines on a piece of graph paper. When you are
finished, neatly color the sections to make a stained glass look design.

1.Y= %x+0
2. Y=-2x+0
3.Y= %X +8
4.Y = %x -8
5.Y=-3x+8
6.Y= % X -4
7.Y = %x+3
8Y=<x+16
9.Y=Lx-21

10.Y=13—1x+2
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WHAT IT'S SUPPOSED TO LOOK LIKE!



